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IIMCBMEHHAS PABOTA YYACTHUKA OJIMMIINA/IBI HTKOJIBHUKOB CIIoI'Y
2019-2020
10 KOMIIJIEKCY ITPEMETOB «COBPEMEHHBII MEHEJI)KEP»

YACTD 1. AHTJIMUCKHUH SI3BIK
BAPHUAHT 1
TASK 1

Read the passage below about leadership and choose the correct answer, (A), (B), (C) or (D) for
each question (1-5).
First time leader

Taking on a leadership role for the first time is tough. There is always pressure on you to do the right
things, and to be seen to be doing them. But, unless there’s something that needs sorting out urgently,
your first few months in the role will be better spent in understanding the people and the situation. One
easy mistake to make is to think that you, as leader, the top person with the top salary, have the sole
responsibility and the know-how to solve every single problem yourself. And you can be sure that others
will encourage you to think that way, since it takes the pressure off them, and it satisfies their natural
urge to leave the solving of problems to others. Instead try using existing resources to identify the current
position and the ways to change it for the better.

Start by consulting widely, beginning with the people who now report to you direct, as these are most
likely to be the people with the expertise and experience to tackle some of the problems that are
identified. A series of one-to-one meetings, though time-consuming, will be worthwhile, especially if
they are structured to provide you with the information you need to make decisions later on. Two useful
questions are: ‘What do you see as the biggest problem facing the department now?’ and ‘What one
change would make the most difference to our success?’ From their answers you can build up a picture of
your people, as well as of the issues. Some will consider the needs of the department as a whole, while
others may just concentrate on their own particular concerns. You will also have had personal contact
with each person and can judge who you will work well with in the future.

Overlap in their responses is a useful pointer to the priorities needing your attention. If there is no
duplication in problems or solutions, it means that you have inherited a disunited group which will need
some team-building and restructuring. If no clear picture emerges, it means that your people are part of
the problem: you will need to make them aware of this.

At the same time, consult with customers. Be open to criticism and to praise. Compare the views of your
department with this external viewpoint and see where the biggest gaps are. This will help to identify
areas for action.

While you are data-gathering, have a look at the figures. Apply different measures from the standard
ones. You probably lack knowledge about which company products are profitable, and you recognize that
staff costs are a key factor. So, ask for an analysis of profitability per employee. There will be some
grumbling that the new figures involve extra work, but the analysis will reveal how many and what kind
of staff your company really needs.

Finally, a key issue for you as a new leader is to establish priorities. If you have done your research well,
you will have identified a number of areas for action. Bring your senior team together and tell them about
your research findings, both the problems and the suggested solutions.

Together, plot the solutions on a big graph, with one axis relating to the amount of difference the action
would make; and the other axis to the ease of implementation. This will prompt useful discussion on the
issues and the means of resolving them. In selecting priorities, you might well gain volunteers to tackle
some of the tasks.

Agree actions, assign responsibilities and establish dates for completion and progress reviews.
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1. How should you structure your first meetings according to the writer?

A Explain to each member of staff the problems facing his or her department.
B See people individually and ask each one the same questions.

C Ask each member of staff to help in setting priorities for action.

D Bring everyone into the discussion to get an agreed plan of action.

2. Getting the same answers from different people during your research tells you that
A the people who are under you clearly do not work well together.
B alot of your department’s problems are caused by the people themselves.
C you have identified the most urgent issues needing your attention.
D your department is working well despite a number of problems.

3. ltis useful to talk to customers about the performance of your department because
A they are likely to be more honest and open than your own staff.
B it makes your customers feel that their opinions are important to you.
C it gives you an opportunity to criticize or praise them.
D you can evaluate what they say against what your own staff told you.

4. What might you learn from the kind of financial analysis that the writer recommends?

A that you need to employ fewer people, or people with different skills

B that you can increase profitability by using different measures

C that this kind of financial analysis involves a lot of extra work

D that financial data must be combined with other information to give a full picture

5. According to the writer, using a graph as part of the meeting with senior staff is a good way to

A set deadlines for completing the work and reporting back.

B give feedback to your staff on the results of your research.

C get your staff talking about the issues and what to do about them.
D show which members of staff should tackle the various problems.

TASK 2

Explain the meaning of the phrase “since it takes the pressure off them” from the text in about 20-50
words.

Sample answer: If your staff can encourage you to do all the problem-solving, it means they don’t have to
do it.

TASK 3

Write your answer to the question below in 100-150 words in an appropriate style. Use your own words
as far as possible. Make sure your answer is well-structured, argumentative and logical.

Which piece of advice about first time leadership, given by the author, is the most valuable? Why?
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BAPUAHT 2
TASK 1

Read the passage below about leadership and choose the correct answer, (A), (B), (C) or (D) for
each question (1-5).

Starting up a business: service and manufacturing sectors compared

Starting up a business is easier in the service sector than in manufacturing. A new manufacturer has to
invest heavily in factory premises, machinery and staff whereas a service sector start-up requires a much
smaller initial investment. However, these new service sector firms often take a long time to build up a
client base. They rely heavily on word of mouth to attract customers, a slow process that causes a few
uncomfortable months while waiting for customers to arrive. With few customers, cash flow is minimal,
but the start-up bank loan still has to be serviced, and there may be promotional costs like price cuts or
free samples.

In contrast, new manufacturers have to find more start-up capital. They take the risk of a high initial
investment only because they know there is a ready market for their product. On the other hand, the
service sector start-up is more speculative, based on the hope that people will want the service offered, so
payback may be seriously delayed. But service sector start-ups have one big advantage over
manufacturing. A restaurant, for example, could be set up in a few weeks, enough time to find premises,
buy equipment ‘off the shelf” and recruit staff. A manufacturer, on the other hand, needs about a year to
find suitable premises, install machinery and make deals with suppliers of materials. This delays the time
taken for cash inflows to start offsetting the start-up costs for the manufacture.

Cash flow is also influenced by the way demand may vary according to the time of year. Many
manufacturers face a seasonal pattern of demand for their product, but the seasonality is more acute for
many service sector firms. Manufacturers can produce stock before their seasonal peak, thus allowing
them to spread the pressure on the production process. But for service providers who make most of their
money during one peak period, seasonality increases the level of risk. If the peak season fails, e.g. ice
cream sales crash because of a cold summer, the whole business could collapse before the next peak
season.

Even more importantly, service providers have to respond instantly to changes in customer demand. Any
variation, whether caused by seasonal factors or changes in fashion, hits service providers immediately.
This implies an even greater need for a market-oriented approach by service providers. There is, however,
a positive aspect for service firms: unlike manufacturers, they are less likely to be caught with huge
stocks of unwanted products.

A firm’s financial success depends on adding value to its products, that is, selling its products at a price
that is higher than the cost of making them. In setting a price, companies must ensure that their customers
believe that the product or service is worth the price being charged. This is harder for service providers.
Customers can calculate more or less the cost of providing a restaurant meal or painting a room. It’s much
harder to judge the cost of manufacturing products like cars or refrigerators. Thus, service providers have
to work much harder to add value to their services while avoiding any suspicion of overcharging. The
implication of this is that manufacturers are likely to find it easier to trade with higher profit margins than
service sector firms.

1. Why is a service business easier to start up than a manufacturing business?

A It needs less capital to set up the business.
B It is more aware of what its customers want.
C It has no difficulty finding trained staff.

D It depends on personal recommendation.

2. New service sector businesses may face a cash flow problem because they
A have to reduce prices in order to attract customers.
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B cannot always get a big enough loan from their bank.
C have used most of their capital to set up the business.
D may not have an immediate demand for their services.

3. Variation in demand is not usually a problem for manufacturers because they

A need less cash once the initial investment has been made.

B know that there is a steady market for their product.

C can use off-peak periods to build up stocks of their product.

D are able to reduce their prices to encourage sales in off-peak periods.

4. Why do manufacturers suffer when customer demand disappears?

A They cannot respond quickly to changes in the market.

B They make most of their money in peak periods like Christmas.
C They might have a lot of stock that they cannot sell.

D They have to keep to very strict budgets.

5. Manufacturers trade with higher profit margins because

A their initial investment is higher so they need a higher return.

B their customers are unaware of the costs involved in manufacturing.
C their costs include a much higher budget for advertising and promotion.
D their products are generally more expensive to make.

TASK 2
Explain the meaning of the phrase “word of mouth” from the text in about 20-50 words.

Sample answer: An unpaid form of promotion in which satisfied customers tell other people how much
they like a business, product or service.

TASK 3

Write your answer to the question below in 100-150 words in an appropriate style. Use your own words
as far as possible. Make sure your answer is well-structured, argumentative and logical.

If you had an opportunity to start your own business, what would it be? Why?
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YACTD 2. MATEMATHKA

BAPUAHT 1

3AJAHUE 1

bank «CTabunpHOCTE» TpeyiaraeT KIMEHTaM OTKPBITh BKIAJ Ha 3 TOAa C MOCTOSIHHOW MPOILIEHTHOM
craBkoir 1%. B ©Oanke «PocT» KiIuMeHTaM OTKPBIBAIOT BKJIaJ Ha 3 TOAa, MPOIEHTHAs CTaBKa
YBEITMYUBACTCS €KEr0JTHO Ha OJIHY U TY € BEJIMYUHY, TPUUYEM BO BTOPOU roJi OHA paBHa 1%.
Kaxoit 6anKk ciemyeT BEIOpaTh BKIQIUUKY IS TIOTYYCHHs] HAMOOJIBIIETO J0X0/1a, €CITH

A) 11t BKJIQZ0B HE MPEyCMOTPEHA KalUTaIU3alisl TPOLICHTOB;

b) nys BKIIa0B mpetyCMOTpeHa KamuTaIu3alis MPOICHTOB.

3AJJAHUE 2

Kommnanust Space Explorer ornpaBnser muccuto Ha miaHety X-Mars s qo0erau 5000 X-Diamont u
10000 X-Emerald. Otu mparorieHHble KaMHH JOOBIBAIOT POOOTHI JBYX Pa3HBIX THIIOB, IpUYeM poOOT
MEepPBOro TUMNA ISl JOOBYU OAHOTO KaMHs X-Diamont TpaTtuT 4 miaHETapHBIX Yaca, a poOOT BTOPOTO
TUMA crpaBisieTcs ¢ Ao0bueil onHoro kamus X-Emerald 3a 1 nmnanerapusiii yac. Kommanusi moxer
noctaBuTh Ha X-Mars Bcero 120 poGoTos.
A) Haiigute HaMMEHbBIIYI0 BO3MOXHYIO HPOAOKUTEIHHOCTh MUCCHU (B IUIAHETAPHBIX yacax),
eci poOOTHl 000X THIIOB MPHUCTYIMAIOT K paboTe OJHOBPEMEHHO M JICHCTBYIOT HE3aBUCHMO
JpyT OT JIpyra.
b) Hailiqute HamMeHBIIYI0 BO3MOXXHYIO MPOAODKUTEIBHOCTh MUCCUU (B TUIAHETAPHBIX 4Yacax),
€clii poOOTHI BTOPOTO THIA MPUCTYMAIOT K paboTe TOIBKO IMOCIE MOJHOTO OKOHYAaHUS padoT
POOOTOB MEPBOTO THIIA.
B) Haiinute HauMeHbIIyI0 BO3MOXKHYIO MPOIOJKUTENIEHOCTh MUCCHUHU, €CITH POOOTHI MIEPBOTO THIA
MOTYT pa0oTaTh TOJBKO IUIAHETAPHON HOYBIO, @ pOOOTHI BTOPOTO TUIIA — TOJIBKO JaHeM. Ha X-
Mars npo0KUTENBHOCTD IHS 1 HOYM OJJUHAKOBA M paBHA 8 MIaHETApHBIX YACOB.

BAPUAHT 2

3AJJAHME 1

bank «CtabunpHOCTb» mpenjiaraeT KJIMEHTaM OTKPbITh BKJAJ Ha 3 TojAa C MOCTOSIHHOW IMPOLIEHTHOU
craBkoil %. B OGanke «PocT» KiIMEHTaM OTKpBIBalOT BKJIaJ Ha 3 Toja, MPOLEHTHas CTaBKa
YBEJIMUYMBAETCS €KET0/THO B OJHO U TO K€ KOJMYECTBO pa3, IpUYeM BO BTOPOM Tojl OHa paBHa %.
Kakoii 0aHk crieayeT BbIOpaTh BKIQAUUKY JUIS TOTY4YEHUsI HAaMOOJIBILEro 10X0/1a, €CIU

A) nns BKJIAJ0B HE IPEyCMOTPEHA KalluTalu3alus NpOIeHTOB;

b) n1st BKI1agoB NpeaycMOTpeHa KanuTaau3alys IpOLeHTOB.

3AJJAHUE 2

B memepe Komess ects ABa HCTOYHUKA — C JKMBOW BOJOM M C MEepTBOM BOJOM. Ily3bIpek >KMBOW BOABI
HanojiHsercs 3a 15 MUHYT, my3bIpek MepTBoi Bojbl Habupaercs 3a 30 munyT. Komeit noobeman babe
Sre nepenare 500 my3bipbkoB xuBoM Bojbl 1 1000 my3bipbkoB MepTBOI Bojbl. Koliel MOXeT npuBiedb
Bcero 80 MOMOIIHUKOB, KOTOpBIE OyIyT HAOUPaTh WIN TOJBKO KUBYIO BOJY, HJIU TOJIBKO MEPTBYIO.
A) Hailigute HauMeHble BpeMsl BBIMOJIHEHUs 3aka3a baObl ru, ecnu 00a MCTOUHMKA JTOCTYITHBI
OJIHOBPEMEHHO.
b) Haiinure HaumeHbIllee BpeMsl BbIIOJHEHUS 3aka3a baObl fAru, ecnu nmo texHuke 0e30MacHOCTH
CHayaJia MOXXHO HaOMPaTh TOJIBKO )KUBYIO BOIY, @ IOTOM MEPTBYIO.
B) Haiinure HanmeHblllee BpeMs BBINOJIHEHHs 3akaza baObl SIru, eciau HMCTOYHUKHU JTOCTYITHBI
NOTMEepPEMEHHO, KX IbIi 10 2 Jaca.
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YACTD 3. TECTUPOBAHHUE

3adanus no mecmupogaruro He nOOaEHCAM NYOIUKAYUU.
YACTD 4. IEJIOBASI UTPA (COBPEMEHHBII MEHEUKEP)
[Ipenyaraercs cutyanus aiasi paboTsl B KOMaHae oT 4 710 8 4eTIoBeK.

Curyanus 1
HETTPUHATBIN 3AKA3

Y Tunorpaduu moanucan I0roBop ¢ 3aKa3YMKOM Ha MevaTh THUPaka YIAKOBKH IS CHITYYHUX POAYKTOB
B 10 000 mtyk Ha cymmy 42000 py6. Bero pabory Bemer ATEHTCTBO — pa3MelIaeT MakKeT, KypUpyeT
CPOKHM U T.J. ATEHTCTBO YTBEPAWJIO M MOAMKCATIO MakeT y 3aka3umka W mepeaano ero Tumorpaduu, 3a
UCKITIOUeHHEeM (oHa (MOJJIOKKH), KOTOPBIA MHpeACTaBUTENb ATEHTCTBA YTBEPAUI CaMOCTOSITENBHO,
BEIOpaB IIBET IO packiagke. Tupaxk HamedaTaH BECh B YKa3aHHBIE CPOKH. 3aKa3UUK TUPAXK HE MPHUHSI,
MOTHBHPYS T€M, YTO I[BET (JOHA €r0 COBEPIICHHO HE YCTPAWBAET: OH XOTEJ IIBET BApEHOM CTYIICHKH, a
MOJTYYHJICS TBET <JICTCKOH HEOXWIAHHOCTH>. Tumorpadus 3alMIacTcs: MakeT ObUT TOJNMUCAH H
YTBEPKJIEH, MbI BCE CAENAJIU 110 ITpaBUjIaM. 3aKa3uuK: 51 HE 3HAKO Balllel KyXHHU, MEHSI HE BOJIHYET, TUPAXK
HE TIPUHUMAI0. ATEHTCTBO: IoToBOp Mexay Bamu (3akazunk u Tunorpadusi) pazoupanTecs.

Ponn:

Tunorpadust — cOXpaHHUTh OTHOWICHHS C 3aKa3YMKOM, BBIUTH W3 ITOH CHTyallud ¢ MUHHMAaJIbHBIMH
U3JIEPKKAMMU.

ATEHTCTBO — COXPaHHUTh OTHOIICHHS ¢ 3aKa3YMKOM, HE y4aCTBOBATh B <paz00pKax™>, yCTPAHUTHCS.
3aKa34uruK — HOJYYMTh 3aKa3 HAJJIEKaIIero kayecTBa 0e3 JOMOJHUTEIbHOMN OIUIAThI.

njin

Cutyanus 2
BBICTABKA

@dupMa MmIaHUpOBaja MPUHATH y4acTUE B BBICTaBKE B JpyroMm ropojge. Crenana 3asBKy, Mojmucana
JIOTOBOp M TpousBena mnpejomiary. [IoTom B cuily OOBEKTHBHBIX OOCTOSITENILCTB Obla BBIHYXKJEHA
OTKa3aThCs OT ydacTus B mociaeaHuid MoMmeHT. K »ToMy BpemMeHM Bcsi cyMMa 3a ywacThe Obuia
nporutaueHa. @upma npenynpeanna OpraHuzaTopoB O CBOEM OTKa3e CHayajla ycTHO (1o Tenedony),
[IOTOM HampaBuja MUCbMO C OQUIMAIBHBIM OTKa30M. OpraHu3aTopbl OTKa3bIBalOTCSI BEPHYTh JEHBIH,
MOTHUBHUPYS T€M, 4TO (pupMa BbIIIIIA HA HUX C MUCbMEHHBIM OTKA30M HEMOCPEICTBEHHO Mepe]l BBICTaBKOM
1 YTO IO YCJIOBHSIM JIOTOBOpa <BO3BpAT IIaTeKel He mpou3BoAuTcs™. Curyanus KoHpIukTHas. Oupma
TpeOyeT BEpHYTh NEHbIM, TaK KaK Y4acTUs HE ObUIO M YCIyTHW He ObUIM OKa3aHbl, U HUKAKUX MOTEPh Y
Opranu3aTtopoB B CBSI3U C MX OTKa30M HE ObLJIO — MecCTa Ha BBICTaBKE U celdyac He BCE PACIpOJIaHBI.
WHpopMalMOHHBIM CIIOHCOPOM BBICTABKH BBICTYIAET KaMITaHUs, JUIsl KOTOPOH (upMa sIBISETCsS OJHUM
U3 CTapbIX, HAJEKHBIX U [ICHHBIX KIIMEHTOB.

Pomnu:

Opranu3zaTopbl BHICTAaBKH — HE BO3BpalllaTh JEHbIU, KOTOPHIX PEalbHO HET — OHHM UCTPAuEHBI.
WHbopManoHHbIH CIOHCOP — COXPAHUTh XOPOIINE OTHOIIEHUS ¢ 00€MMH CTOPOHAMH KOH(IJIUKTA.
®upmMa — BEpHYTh JAECHbIH, P HEOOXOAUMOCTH NMpUOETrHyB K nomomu MHdopmannoHHOro crioHcopa.



